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1. A, B, and C, in that order, toss a die. The first one to toss a six wins. What is the probability that one of them will
win in the first round?

A. 17216 B. 912216 C. 12 D. 5/9 E. 1.0

2. Data were collected on the price of a certain DVD player, model ST300, at 7 stores. The mean price is
$210 and the median is $205. The prices at 5 of these stores are given below: 215 200 190 230 185.
What is the z-score of the $185 prices?

A.-23682 B.-1.7450 C.-0.8103 D.-1.1574 E.-2.5972

3. Insimple regression model, when the population slope is zero if and only if the population is zero.

A. Variance B.mean C.error D. correlation coefficient E. residual coefficient

4. Consider the hypotheses about a binomial population:
Hop<.10 vs. Hap>.10  (hint: /50 =7.071)
Suppose the decision rule based on a random sample of size 50, is to reject Ho if a sample proportion is greater
than .20. What is the near probability of making Type I error? A..050 B..100 C..043 D..015 E..001

5. A market research analyst would like to estimate the average weekly household expenditure on groceries in Stat
City to within $5. The market research analyst is aware that weekly household expenditures on groceries are
approximately normal and range from $50 to $160. What sample size would be necessary to be 99% confident?
A. 8 B. 201 C. 117 D. 176 E. 232

(FEInARE » FHEEL)




YR 267 BRILRTh AR 103 B4 ERE T I 4 s #3 H-®2H
L FTAER : ETE A
EZ5PIE - fate SEAEE 0223 B ¢ 3

K FEFER AR TERSER - FNEFEERNEE  REFEELEEE  NF5to -

6. The hourly wages of a sample of 130 system analysts are given below.
mean = 60, range = 20, mode = 73, variance = 324, median = 74. The coefficient of variation equals
A.030% B. 30% C. 54% D. 54% E. 0.54%

(hint: /60 =7.746,+/130 =11.402, /324 =18,y20 =4.472,4/74 =8.602)

7. Doubling the size of the sample will
A. reduce the standard error of the mean to one-half its current value
B. reduce the standard error of the mean to approximately 70% of its current value
C. have no effect on the standard error of the mean
D. double the standard error of the mean

E. reduce the standard error of the mean to one-third its current value

8. A sample of 20 cans of tomato juice showed a standard deviation of 0.4 ounces. A 95% confidence interval
estimate of the variance for the populationis A.0.2313t00.8533 B. 0.2224t00.7924
C. 0.0889t00.3169 D. 0.0925t00.3413 E. 021141t00.8952

9. Larger values of ¥ imply that the observations are more closely grouped about the
A . average value of the independent variables B. average value of the dependent variable

C. least squares line D. origin E. none of the above

10. The following information regarding a dependent variable ¥ and an independent variable X is provided ZX = 90,
2(Y-Y)X-X) =-156, zr=340, £(X-XJ =234, n=4,5(Y-Y) =1974,5SR =104,

MSE (mean square error) equalsto A. 1870 B. 13 C. 1974 D. 23375 E. 935

ZERREGE 60 ) EEREMHXK - B ERY  SRIFIHRBIEHIZT - ]
1' ﬁ—éﬂ%%ﬁji (x]sy] ) * (xz;yz) Yo (X30’y30) ’ :‘E‘-I_%:?%

30 _ 30
§ =-342+098x=b,+bx 5+ Y (x,-x)*=638 D (y-9,)°=086 - HRK

i=1 i=1

(1) y B x ZHERRAREL - (553D
(2) Bz 95%fERE&m - (1043)




RoE 267 BRILEREI AR 103 AR R - TE A E i # 3 H-B3H
HPnsEA - AT A
ZHELE - Gt EEER 0223 85K ¢ 3

X ELEFEEE  ASEATEREE - EREEERIES AR EESE AP -
2. BEXEY I EMRBEREE f(0y)=x* +x)/3,0<x<], 0<y<2,

' (1) RP¥<X0=2? (74)
(2) RPE<12| X<12)=? (84})

3. EE BB —4AERMT - 3.6, 8.5, 43, 52, 67, 2.1, 56, 94, 47, 13. FEEKEa =
0.05 » SERFAIHERIE BRSO U, 10/H 2 (154))
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feEFE | 1| 2131456, % | s
R A 8 |7 14 |5 |7 |6 |6.17]1472

f#H& B 5 |3 |4 |4 |3 |4 |(3.83]0.753
JEHE C 4 |6 |3 |2 |5 |1 |35 |1.871

HHMHE A B R C 3y RIRIESEHT - RBREEINS - =005 » SIS A - B R CHRTHA
FHITHE? (155) 3,(x, — D565




